
cf=j= 2072÷073 sf] :jLs[t of]hgfx?sf] ljj/)f 

s= ef}lts k"jf{wf/ ;DjlGw of]hgf ? 13000000.00 

qm=;= of]hgf ljjj/)f of]hgf l:ylt j*f :jLs[t /sd s}lkmot 

1 zflGtrf]sjf^ bg'jf/j:tL hfg] jf^f] sfnf]kq] gof+ 1 500000.00  

2 lqkmnf klZrd pQ/ }̂S;L :^\of)* pQ/ x'b} 

lgGbf ^f]n / xg'dfg ^f]n;Dd ljB't lj:tf/ 

gof+ 1 500000.00  

3 b'jfu(L l;dfgfaf^ wfOhg j*f g+= 1 hf]*\g] 

jf^f] u|fe]n 

gof+ 2 500000.00  

4 gu/*'Aaf e"ldut ;tx k}gL d'xfg lgdf{)f gof+ 2 500000.00  

5 dxfgGb rf]sb]lv %ljnfn vltj*fsf] #/;Dd 

*<]g / u|fe]n 

gof+ 3 500000.00  

6 j]b k|;fb vgfnsf] #/b]lv l^dfO{ k'n x'b} 

w'nfjf/L jhf/;Ddsf] ;*s sfnf]kq] 

gof+ 3 500000.00  

7 b]ljvf]nf :Nofk sNe{^ lgdf{)f qmdfut 4 500000.00  

8 z'efif lrdl/ofsf] #/ blIf)f l/é/f]* u|fe]lné qmdfut 4 500000.00  

9 sgs >Lk}gL u+uf cfwfo{sf] #/ pQ/b]lv k'iff 

/fha+zL ;Ddsf] k'/fgf] d'xfg lgdf)f{ 

gof+ 5 500000.00  

10 ;+ud+rf]s 80 ld= dfyL jf^f] sfnf]kq] gof+ 5 500000.00  

11 x/L g]kfnsf] #/k"j{ *<]g lgdf{)f gof+ 6 500000.00  

12 ltglt/] rf]s blIf)f x'b} l;$fy{ rf]s;Dd u|fe]n gof+ 6 500000.00  

13 cfbz{ dfu{ pQ/ hfg] / ;'s'Djf;L dfu{ u|fe]n gof+ 7 500000.00  

14 jf#] tyf b]p/fnL k}gL jfw lgdf{)f gof+ 7 500000.00  

15 #f]*flhg ^f]n l;rfO{ sfo{qmd gof+ 8 500000.00  

16 dbg cfl>t dfu{ :t/j[l$ gof+ 8 500000.00  

17 sfnL dlGb/ :Nofj Sne{^ lgdf{)f gof+ 9 1000000.00  

19 w'j|/fO{sf] #/ %]p sNe{^ lgdf{)f gof+ 10 1000000.00  

20 dgdf]xg dfu{df *<]g lgdf{)f gof+ 10 j}slNks  

22 d]rLk'n blIf)f efG;fvf]nf ;*s ;tx (n 

lgdf{)f 

gof+ 11 1000000.00  

23 uf]s'n dfu{;+u hf]l*Psf] ;fu/afw dfu{, 

af;jf/L dfu{, lgjf/)f dfu{  tyf wg]Zj/ 

dfu{sf] :t/ pGgtL 

gof+ 12 1000000.00  

24 uf]s'n dfu{ k"j{ x'b} cfbz{ dfu{df hf]*\g] af^f] 

:t/f]GgtL 

gof+ 13 500000.00  

25 ;'j)f{dfu{ pQ/x'b} v/]n ufp+ hfg] ;*s 

:t/f]GgtL 

gof+ 13 500000.00  

v= k|j${gfTds If]q sfo{qmd ? 6500000.00 

qm=;= of]hgf ljjj/)f of]hgf 

l:ylt 

j*f :jLs[t /sd s}lkmot 

1 Eo" ^fj/ ;+efJotf cWoog gof+ 10 700000.00  

2 v'§L*fuL ;fd'bflos jg lrN*<]g kfs{ gof+ 5 1500000.00  

 



qm=;= of]hgf ljjj/)f 
of]hgf 

l:ylt 
j*f :jLs[t /sd s}lkmot 

3 yf]Kn]lj/fg ;f'dbflos jg lkslgs :k^ gof+ 6 1500000.00  

4 ul/jL lgjf/)f tyf ;fdflhs kl/rfng sf]if gof+  1300000.00  

5 w'nfjf/L k|x/L rf}sL hUuf vl/b gof+ 1 1500000.00  

 uf];vfg :n^/ xfp; lgdf{)f gof+  0.00 j}slNks 

u= nlIft ju{ tkm{sf sfo{qmd hDdf /sd ? 13625600.00 

u=1= jfnjflnsf tkm{ hDdf /sd ? 5110000.00 

1 b]jsf]^f kfs{ lrN*<]g kfs{ gof+ 10 2400000.00  

2 v]ns'b ljsf; sfo{qmd gof+  500000.00  

3 jfnjflnsfsf] k|f]kmfOn gof+  500000.00  

4 jfnSnj v]ns'b ;fdfu|L gof+  150000.00  

5 jfn ljsf; s]Gb| z}lIfs ;fdfu|L gof+  110000.00  

6 :jjf]w ;fwgf s]Gb| jfn ;++/If)f gof+ 4 100000.00  

7 kf;fé Nxfd' :jLldé k'n qmdfut 3 1000000.00  

8 ;';]nL ;flxlTos k|lti&fg gof+ 10 50000.00  

9 zfl//Ls ;';+u&g tflnd gof+  50000.00  

10 l;PkmPnhL cled'vLs/)f gof+  250000.00  

u=2= dlxnf tkm{ hDdf /sd ? 3406600.00 

1 Jo"^Llzog tflnd gof+  150000.00  

2 (fsf^f]kL tfg tflnd gof+  150000.00  

3 l;nfOs^fO{ tflnd gof+  200000.00  

4 gf/L lzk ljsf; s]Gb| gof+ 10 36000.00  

5 jfv|fkfng tflnd gof+  200000.00  

6 j]df};dL t/sf/L v]tL gof+  200000.00  

7 #/]n" lx+;f Go"gLs/)f tflnd gof+  100000.00  

8 dft[[lzz' :ofxf/ s]Gb| gof+ 4 100000.00  

9 dlxnf :jf:Yj :jo+;]ljsf ;fOsn vl/b gof+  400000.00  

10 cfbz{ dlxnf hfu/)f ejg lgdf{)f qmdfut 13 450000.00  

11 k|fylds :jf:Yo s]Gb|, k|;'lt :ofxf/ s]Gb| 

Joj:yfkg 

gof+ 1 150000.00  

12 dlxnf :jf:Yo lzlj/ gof+  100000.00  

13 ;'wfl/Psf] r'Nxf] -Doflré_ gof+  100000.00  

14 Psn dlxnf lzk ljsf; tflnd gof+  100000.00  

15 t]>f] lnlé Ifdtf ljsf; sfo{qmd gof+  50000.00  

16 h])*/ cl*^ tyf jh]l^é tflnd gof+  150000.00  

17 Knfl:^s d'Qm If]q cleofg gof+  170600.00  

18 j[Iff/f]k)f sfo{qmd gof+ 1,3/9 350000.00  



qm=;= of]hgf ljjj/)f of]hgf 

l:ylt 

j*f :jLs[t /sd s}lkmot 

19 cGt{/fli <̂o gf/L lbj; gof+  50000.00  

20 cGt/kf^L{ dlxnf ;+hfn dlxnf clwsf/ lzIff gof+  100000.00  

21 sDKo"^/ j]l;s tflnd gof+  100000.00  

u=3= ljkGg ju{ tkm{ hDdf /sd ? 5109000.00 

1 v'Nnf lbzfd'Qm If]q cleofg gof+  700000.00  

2 ckfé ljBfno ;+rfng gof+ 12 250000.00  

3 u)f]z dlGb/ ;+/If)f gof+ 3 200000.00  

4 rf}w/L u|fdyfg sDkfp)*jfn gof+ 13 200000.00  

5 ls/ft o'df dfélxd ;+/If)f gof+ 8 100000.00  

6 ls/ft]Zj/ dfélxd ;+/If)f gof+ 4 150000.00  

7 sj/j:tL ;*s :t/Ggf]tL gof+ 3 100000.00  

8 ;s]nfyfg sDkfp)*afn lgdf{)f gof+ 13 250000.00  

9 g]kfn clx+;fjfbL jf]$ u'Djf sDkfp)* jfn gof+ 13 300000.00  

10 h]i& gful/s ;Ddfg sfo{qmd gof+  70000.00  

11 hgcfGbf]ng #fOt] uf]kfn >]i& lgjf{x vr{ gof+ 5 36000.00  

12 e'd]yfg lgdf{)f gof+ 7 250000.00  

13 h]i& gful/s e]^#f^ rf}tf/L lgdf{)f gof+ 10 500000.00  

14 w'nfjf/L b'uf{ dlGb/ ;+:s[lt ;+/If)f gof+ 5 30000.00  

15 gsnjGbf b'uf{ dlGb/ ;+:s[lt ;+/If)f gof+ 9 23000.00  

16 j*fut of]ufWofg s]Gb| ;+rfng gof+  300000.00  

17 dxfgGb k|f=lj= zf}rfno lgdf{)f gof+ 2 500000.00  

18 %fqj[lt sfo{qmd gof+  50000.00  

19 cflbjf;L hghflt efiff ;+:s[lt ;+/If)f gof+  800000.00  

20 blnt lzk ljsf; tflnd-l;nfO{{, kmnfd tyf h'Qf 

rKkn_ 

gof+  150000.00  

21 db/;f ;+/If)f gof+ 2 100000.00  

22 %& k'hf #f^ lgdf{)f gof+ 1, 

10 

50000.00  

hDdf  5109000.00  

#= hu]*f sf]if sfo{qmd ? 30000000.00 

qm=;= of]hgf ljjj/)f 
of]hgf 

l:ylt 
j*f :jLs[t /sd s}lkmot 

1 w'nfjf/L xf^ jhf/ ;]* lgdf{)f cw'/f] qmdfut 3 5000000  

2 Kof/Lle§f j;kfs{ -;le{; ;]G^/, *«« «]g  

;lxt_ lgdf{)f 

gof+ 11 10000000  

3 uf]s'ndfu{ *<]g tyf sfnf] kq] qmdfut 12 5000000  

4 sdnrf]saf^ yf]Kn] lj/fg x'b} g}gfvfn 

hfg] af^f]df k'n lgdf{)F 

gof+ 6 5000000  



qm=;= of]hgf ljjj/)f of]hgf 

l:ylt 

j*f :jLs[t /sd s}lkmot 

5 ;'j)f{ dfu{ sfnf] kq] tyf *<]g gof+ 10 5000000  

6 w'nfjf/L \̂ofS;L kfls{é tyf nf]* 

cgnf]* s]Gb| 

gof+ 1 j}slNks  

7 gsnjGbf l:yt gkfsf] hUuf ;+/If)f gof+ 9 j}slNks  

8 sfGtLky ;*s sfnf]kq] tyf *<]g gof+ 10 j}slNks  

9 zflGt^f]n cw'/f] *<]g tyf sfnf] kq] gof+ 1 j}slNks  

10 kflnofdfu{ x'b} ;]js dfu{df sfnf]kq 

tyf *<]g lgdf{)f 

gof+ 11 j}slNks  

11 w'nfjf/L k'/fgf] jhf/ l;/fg x'b} xf]nLj]n 

:s'n cufl*af^ l^dfO{ vf]nfsf] 

uf];vfg;Dd *<]g 

gof+ 5 j}slNks  

ñ ;*s jf]*{ sfo{qmd gu/kflnsf leqsf ;*s dd{t         ?= 2800000.00 

r= ljleGg cGo sfo{qmd                         ?= 938250.00  

;fj{hlgs ;'g'jfO{                           ? 100000.00 

;fdflhs k/LIf)f                           ? 138250.00 

s/bftf lzIff                             ? 300000.00 

/]l*of] tyf ;'rgf ;Dk|]z)f -klqsf_ sfo{qmd           ? 300000.00 

j'n]l^g k|sfzg                             ? 100000.00 

 

 


